(II) Lebenslabor
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Teil. Buro

333 m?

1.

2. Teil. BuUro / Wohnung

945 m?

3. Teil. Wohnung

1.228 m?

d

BT ,
OV S IV S I I W B S -

d d d

d

2 ) ) =

%]/

-l

2 VA VA VA VA VAV

¥,

-1

-l

%

I 4%
e
. |

n_n n_n m% ] R
U u U u u
N < O O O (O 1
(i N
| Y Yo Hmﬁ\‘\\ O 2 o N O 1 O
be | nn T a2 SN | A (= = ey ey =y
[ | I N
| U Uu | 5 o O O 5 I I
] 2222 FaVaVaVeV o HWT‘ -
I \ ]
4 MMW = w memu
N < O O O O (O 1
b | 5 R s ——
S0 O " I RIS
! 3| @ ' I Hmf\:\‘ i | 5 O
OM i i
mw ﬁ\tf/mmm,u
[ D) , J B[ — i D S S| i | N |
7 b=t v g ———
I gD
i dTh i
] 0 0 | P |0 AMf\\\‘ i I |5 S | I
€1 P dlb o M T mT—T =1
x:%v, | B RS
s XTI T T 10 1 T 1011

| S (S | Y| S S [ Y SO B
= A T
| S S | i | S S [ SO | N
= P ST T
| S (S | G | S S [ i SO N
T 1 = e T
| S (S | Y| S S [ Y SO B
= A T
| S S | i | S S [ SO | N
= P ST T
| S (S | G | S S [ i SO N
T 1 = e T
| S (S | G | S S [ i SO N
= A T
| S S | i | S S [ SO | N
= P ST T
| S (S | G | S S [ i SO N
T 1 = e T
| S (S | G | S S [ i SO N
= 1 = o e
| S S | i | S S [ SO | N
T\\\\\#L\AHHHMWL

T“ﬁTD%g

T 1 = e T
| S (S | G | S S [ i SO N
T 1 = e T
| S S | i | S S [ SO | N
= A T
| S (S | G | S S [ i SO N
T 1 = e T

6.7%

Buro:

5.8%

Studios:

Buro/temporare Wohnung: 27.8%

Genossenschaft 44.9%

Individuelle Wohnungen 6.1%

Offentliche Funktionen:

8.7%
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